



Date: 11/06/2017

Page 1 of 16

ACCOU 9150 TC	: -WASTEWATER COLLECTION INT CLERK MS 902 DPAZ WAY go CA 92123-1119	9192 TOF	COUNTS PAYABLE PAZ WAY GO CA 92123		ו   ר	Billing Conta MARIE RAMC Felephone: E-Mail:ramosr	)S	andiego.	gov
Vendo	<ul> <li>West Coast Safety Supply Co 1042 N El Camino Real Ste B Encinitas CA 92024-1322</li> </ul>				Terms: within 30 d Delivery T FOB Dest				
					Buyer:	Beverly A	sbill-Gu	um	
					Telephon	e: 619-236-	5923		
Vendor	ID: 10003426 Telephone:800-804-77	72 <b>E-Mail:</b>	sales@westcoastsafetys	supply.c	E-Mail:	BAsbillGu	mbs@	sandiego	o.gov
Line #	Item ID/Description Serv # Service De	scription	Del.Date	Quanti	ty/Ord UoM	Unit Price/Pr Conv Fac		Exter	ded Price
1	FY18 6" PROOFING SKIDS FY18 LINE 2 6" PROOFING SKIDS DEPT CONTACT: JESUS ESCALONA 858-614	4-5772	06/30/2018		5 EA	126.00	EA	USD	630.00
	***DO NOT SHIP ITEMS UNTIL REQUESTED	**						USD	48.83
2	FY18 7" PROOFING SKIDS		06/30/2018		5 EA	127.00	EA	USD	635.00
	LINE 3 7" PROOFING SKIDS								
	DEPT CONTACT: JESUS ESCALONA 858-614	4-5772							
	***DO NOT SHIP ITEMS UNTIL REQUESTED	***							
	Non-Deductible Tax							USD	49.22
3	FY18 7 1/2" PROOFING SKIDS		06/30/2018		5 EA	127.00	EA	USD	635.00
	LINE 4 7 1/2" PROOFING SKIDS								
	DEPT CONTACT: JESUS ESCALONA 858-614	4-5772							
	***DO NOT SHIP ITEMS UNTIL REQUESTED	**							
	Non-Deductible Tax							USD	49.22
4	FY18 8" PROOFING SKIDS		06/30/2018		5 EA	127.00	EA	USD	635.00
	LINE 5 8" PROOFING SKIDS								
	DEPT CONTACT: JESUS ESCALONA 858-614	4-5772							
	***DO NOT SHIP ITEMS UNTIL REQUESTED	**							
Notes: T	he Terms and Conditions of this Purchase O	rder are avai	lable at http://sandiego.gov	//purcha	ising/	SEE	LA	ST F	PAGE
	IMPO	ORTANT!				FC	DR <sup>-</sup>	ΓΟΤ	AL
To ensui directed	re prompt payments, PO # must appea to <i>Billing</i> Contact person at <i>Bill-To</i> addr	r on all ship ess listed a	ments and invoices; all bove	invoice	es must be				





Date: 11/06/2017

Page 2 of 16

Line #	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Pro Conv Fact		Exten	ded Price
	Non-Deductible Tax					USD	49.22
5	FY18 10" PROOFING SKIDS	06/30/2018	5 EA	133.00	EA	USD	665.00
	LINE 6 10" PROOFING SKIDS						
	DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	51.54
6	FY18 12" PROOFING SKIDS	06/30/2018	5 EA	135.00	EA	USD	675.00
	LINE 7 12" PROOFING SKIDS						
	DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	52.32
7	FY18 15" PROOFING SKIDS	06/30/2018	5 EA	132.00	EA	USD	660.00
	LINE 8 15" PROOFING SKIDS						
	DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	51.15
8	FY18 18" PROOFING SKIDS	06/30/2018	5 EA	135.00	EA	USD	675.00
	LINE 9 18" PROOFING SKIDS						
	DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	52.32
9	FY18 20" PROOFING SKIDS	06/30/2018	5 EA	138.00	EA	USD	690.00
	LINE 10 20" PROOFING SKIDS						
	DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	53.48
10	FY18 ALUMINUM TOP MANHOLE ROLLER	06/30/2018	5 EA	130.00	EA	USD	650.00
	LINE 11 ALUMINUM TOP MANHOLE ROLLER:LIGHTWEIGHT	г					
Notes: T	he Terms and Conditions of this Purchase Order are availa	ble at http://sandiego	.gov/purchasing/	SFF		ST	PAGE
	IMPORTANT!			1		TOT	
Fo ensur directed t	e prompt payments, PO # must appear on all shipm to <i>Billing</i> Contact person at <i>Bill-To</i> address listed abo	nents and invoices;	all invoices must be		- 1 \		<i>;</i> ~ <b>L</b>





Date: 11/06/2017

Page 3 of 16

Line #	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Exten	ded Price
	DEPT CONTACT: JESUS ESCALONA 858-614-5772					
	***DO NOT SHIP ITEMS UNTIL REQUESTED***					
	Non-Deductible Tax				USD	50.38
11	FY18 SEWER QUALITY MILL CERTIFICATE HAND	06/30/2018	5 EA	5.71 EA	USD	28.55
	LINE 12 SEWER QUALITY MILL CERTIFICATE HAND ROD					
	DEPT CONTACT: JESUS ESCALONA 858-614-5772					
	***DO NOT SHIP ITEMS UNTIL REQUESTED***					
	Non-Deductible Tax				USD	2.2
12	FY18 1.5" ROUND WIRE CORKSCREW	06/30/2018	5 EA	13.66 EA	USD	68.30
	LINE 13 1.5" ROUND WIRE CORKSCREW:5/16" ROUND					
	DEPT CONTACT: JESUS ESCALONA 858-614-5772					
	***DO NOT SHIP ITEMS UNTIL REQUESTED***					
	Non-Deductible Tax				USD	5.29
13	FY18 2" ROUND WIRE CORKSCREW:5/16" ROUND	06/30/2018	5 EA	13.66 EA	USD	68.3
	LINE 14 2" ROUND WIRE CORKSCREW:5/16" ROUND WI					
	DEPT CONTACT: JESUS ESCALONA 858-614-5772					
	***DO NOT SHIP ITEMS UNTIL REQUESTED***					
	Non-Deductible Tax				USD	5.29
14	FY18 2.5" ROUND WIRE CORKSCREWS	06/30/2018	5 EA	13.66 EA	USD	68.30
	LINE 15 2.5" ROUND WIRE CORKSCREWS:5/16" ROUND					
	DEPT CONTACT: JESUS ESCALONA 858-614-5772					
	***DO NOT SHIP ITEMS UNTIL REQUESTED***					
	Non-Deductible Tax				USD	5.2
15	FY18 3" ROUND WIRE CORKSCREWS:5/16"	06/30/2018	5 EA	13.66 EA	USD	68.3
	LINE 16 3" ROUND WIRE CORKSCREWS: 5/16" ROUND WI					
	DEPT CONTACT: JESUS ESCALONA 858-614-5772					
	***DO NOT SHIP ITEMS UNTIL REQUESTED***					
	Non-Deductible Tax				USD	5.2
Notes: Th	he Terms and Conditions of this Purchase Order are availab	le at http://sandiego	.gov/purchasing/	QEE I A	<u>ет</u> і	
	IMPORTANT!			SEE LA		
o ensur	e prompt payments, PO # must appear on all shipme to <i>Billing</i> Contact person at <i>Bill-To</i> address listed above	ents and invoices.	all invoices must be		101	





Date: 11/06/2017

Page 4 of 16

_ine #	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Pr Conv Fac	c Uom tor	Extend	led Price
16	FY18 4" ROUND WIRE CORKSCREWS:5/16"	06/30/2018	5 EA	13.66	EA	USD	68.3
	LINE 17 4" ROUND WIRE CORKSCREWS:5/16" ROUND WI						
	DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	5.2
17	FY18 6" ROUND WIRE CORKSCREWS:5/16"	06/30/2018	5 EA	20.00	EA	USD	100.0
	LINE 18 6" ROUND WEIRE CORKSCREWS:5/16" ROUND WI						
	DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	7.7
18	FY18 3" DOUBLE ROUND WIRE CORKSCREWS	06/30/2018	5 EA	24.00	EA	USD	120.0
	LINE 19 3" DOUBLE ROUND WIRE CORKSCREWS:5/6"						
	DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	9.3
19	FY18 4" DOUBLE ROUND WIRE CORKSCREWS	06/30/2018	5 EA	27.00	EA	USD	135.0
	LINE 20 4" DOUBLE ROUND WIRE CORKSCREWS:5/16" D						
	DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	10.4
20	FY18 2" SQUARE BAR CORKSCREW BLADE	06/30/2018	5 EA	40.00	EA	USD	200.0
	LINE 21 2" SQUARE BAR CORKSCREW BLADE ONLY						
	DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	15.5
21	FY18 3" SQUARE BAR CORKSCREW BLADE	06/30/2018	5 EA	42.00	EA	USD	210.0
	LINE 22 3" SQUARE BAR CORKSCREW BLADE ONLY						
	DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
lotes: ⊺	he Terms and Conditions of this Purchase Order are availabl	e at http://sandiego	.gov/purchasing/	0EE	^	CT L	
	IMPORTANT!					TOT	PAGE
	re prompt payments, PO # must appear on all shipme to <i>Billing</i> Contact person at <i>Bill-To</i> address listed abov	nto and invaiona			JK	101	AL





Date: 11/06/2017

Page 5 of 16

Line #	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Pr Conv Fac		Exter	nded Price
	Non-Deductible Tax					USD	16.28
22	FY18 4" SQUARE BAR CORKSCREW BLADE ONLY	06/30/2018	5 EA	43.00	EA	USD	215.00
	LINE 23 4" SQUARE BAR CORKSCREW BLADE ONLY						
	DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	16.67
23	FY18 5" SQUARE BAR CORKSCREW BLADE	06/30/2018	5 EA	46.00	EA	USD	230.00
	LINE 24 5" SQUARE BAR CORKSCREW BLADE ONLY						
	DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	17.83
24	FY18 6" SQUARE BAR CORKSCREW BLADE ONLY	06/30/2018	5 EA	54.00	EA	USD	270.00
	LINE 25 6" SQUARE BAR CORKSCREW BLADE ONLY						
	DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	20.93
25	FY18 7" SQUARE BAR CORKSCREW	06/30/2018	5 EA	59.00	EA	USD	295.00
	LINE 26 7" SQUARE BAR CORKSCREW BLADE ONLY						
	DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	22.87
26	FY18 8" SQUARE BAR CORKSCREW BLADE ONLY	06/30/2018	5 EA	65.00	EA	USD	325.00
	LINE 27 8" SQUARE BAR CORKSCREW BLADE ONLY						
	DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	25.19
27	FY18 10" SQUARE BAR CORKSCREW BLADE ONLY	06/30/2018	5 EA	100.00	EA	USD	500.00
	LINE 28 10" SQUARE BAR CORKSCREW BLADE ONLY						
Notes: T	he Terms and Conditions of this Purchase Order are availa	ble at http://sandiego	.gov/purchasing/	SEE	ΙΔ	ST	PAGE
	IMPORTANT!			1			
To ensur directed t	e prompt payments, PO # must appear on all shipm o <i>Billing</i> Contact person at <i>Bill-To</i> address listed abo	ents and invoices;	all invoices must be		_		





Date: 11/06/2017

Page 6 of 16

EPT CONTACT: JESUS ESCALONA 858-614-5772 *DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax					
Non-Deductible Tax					
				USD	38.7
18 12" SQUARE BAR CORKSCREW BLADE	06/30/2018	5 EA	114.00 EA	USD	570.0
INE 29 12" SQUARE BAR CORKSCREW BLADE ONLY					
EPT CONTACT: JESUS ESCALONA 858-614-5772					
*DO NOT SHIP ITEMS UNTIL REQUESTED***					
Non-Deductible Tax				USD	44.
/18 2" AUGER BLADE 5/16"	06/30/2018	5 EA	21.68 EA	USD	108.
INE 30 2" AUGER BLADE ONLY FOR USE WITH 5/16"					
EPT CONTACT: JESUS ESCALONA 858-614-5772					
Non-Deductible Tax				USD	8.
'18 3" AUGER BLADE 5/16"	06/30/2018	5 EA	22.00 EA	USD	110.
INE 31 3" AUGER BLADE ONLY FOR USE WITH 5/16" H					
Non-Deductible Tax				USD	8.
'18 4" AUGER BLADE 5/16"	06/30/2018	5 EA	31.00 EA	USD	155.
INE 32 4" AUGER BLADE ONLY FOR USE WITH 5/16" H					
EPT CONTACT: JESUS ESCALONA 858-614-5772					
*DO NOT SHIP ITEMS UNTIL REQUESTED***					
Non-Deductible Tax				USD	12.
/18 5" AUGER BLADE 5/16"	06/30/2018	5 EA	45.00 EA	USD	225.
INE 33 5" AUGER BLADE ONLY FOR USE WITH 5/16" H					
EPT CONTACT: JESUS ESCALONA 858-614-5772					
*DO NOT SHIP ITEMS UNTIL REQUESTED***					
Non-Deductible Tax				USD	17.
erms and Conditions of this Purchase Order are availa	ble at http://sandiego	.gov/purchasing/			
ΙΜΟΛΟΤΛΝΤΙ					
	onto and involution			101	AL
	EPT CONTACT: JESUS ESCALONA 858-614-5772 *DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax  18 3" AUGER BLADE 5/16" NE 31 3" AUGER BLADE ONLY FOR USE WITH 5/16" H EPT CONTACT: JESUS ESCALONA 858-614-5772 *DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax  18 4" AUGER BLADE 5/16" NE 32 4" AUGER BLADE ONLY FOR USE WITH 5/16" H EPT CONTACT: JESUS ESCALONA 858-614-5772 *DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax  18 5" AUGER BLADE 5/16" NE 33 5" AUGER BLADE ONLY FOR USE WITH 5/16" H EPT CONTACT: JESUS ESCALONA 858-614-5772 *DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax  18 5" AUGER BLADE ONLY FOR USE WITH 5/16" H EPT CONTACT: JESUS ESCALONA 858-614-5772 *DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax  18 5" AUGER BLADE ONLY FOR USE WITH 5/16" H EPT CONTACT: JESUS ESCALONA 858-614-5772 *DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax	EPT CONTACT: JESUS ESCALONA 858-614-5772 *DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax  18 3" AUGER BLADE 5/16" 06/30/2018 NE 31 3" AUGER BLADE ONLY FOR USE WITH 5/16" H EPT CONTACT: JESUS ESCALONA 858-614-5772 *DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax  18 4" AUGER BLADE 5/16" 06/30/2018 NE 32 4" AUGER BLADE ONLY FOR USE WITH 5/16" H EPT CONTACT: JESUS ESCALONA 858-614-5772 *DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax  18 5" AUGER BLADE 5/16" 06/30/2018 NE 33 5" AUGER BLADE ONLY FOR USE WITH 5/16" H EPT CONTACT: JESUS ESCALONA 858-614-5772 *DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax  18 5" AUGER BLADE 5/16" 06/30/2018 NE 33 5" AUGER BLADE ONLY FOR USE WITH 5/16" H EPT CONTACT: JESUS ESCALONA 858-614-5772 *DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax  18 5" AUGER BLADE 0NLY FOR USE WITH 5/16" H EPT CONTACT: JESUS ESCALONA 858-614-5772 *DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax  18 5" AUGER BLADE 0NLY FOR USE WITH 5/16" H EPT CONTACT: JESUS ESCALONA 858-614-5772 *DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax  18 5" AUGER BLADE 0NLY FOR USE WITH 5/16" H EPT CONTACT: JESUS ESCALONA 858-614-5772 *DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax	EPT CONTACT: JESUS ESCALONA 858-614-5772 'DO NOT SHIP ITEMS UNTIL REQUESTED''' Non-Deductible Tax 18 3" AUGER BLADE 5/16" 06/30/2018 5 EA NE 31 3" AUGER BLADE ONLY FOR USE WITH 5/16" H EPT CONTACT: JESUS ESCALONA 858-614-5772 'DO NOT SHIP ITEMS UNTIL REQUESTED''' Non-Deductible Tax 18 4" AUGER BLADE 5/16" 06/30/2018 5 EA NE 32 4" AUGER BLADE ONLY FOR USE WITH 5/16" H EPT CONTACT: JESUS ESCALONA 858-614-5772 'DO NOT SHIP ITEMS UNTIL REQUESTED''' Non-Deductible Tax 18 4" AUGER BLADE 5/16" 06/30/2018 5 EA NE 32 4" AUGER BLADE ONLY FOR USE WITH 5/16" H EPT CONTACT: JESUS ESCALONA 858-614-5772 'DO NOT SHIP ITEMS UNTIL REQUESTED''' Non-Deductible Tax 18 5" AUGER BLADE 5/16" 06/30/2018 5 EA NE 33 5" AUGER BLADE ONLY FOR USE WITH 5/16" H EPT CONTACT: JESUS ESCALONA 858-614-5772 'DO NOT SHIP ITEMS UNTIL REQUESTED''' Non-Deductible Tax 18 5" AUGER BLADE 5/16" 1 EPT CONTACT: JESUS ESCALONA 858-614-5772 'DO NOT SHIP ITEMS UNTIL REQUESTED''' Non-Deductible Tax 'DO NOT SHIP ITEMS UNTIL REQUESTED''' Non-Deductible Tax	EPT CONTACT: JESUS ESCALONA 858-614-5772 'DO NOT SHIP ITEMS UNTIL REQUESTED''' Non-Deductible Tax  18 3' AUGER BLADE 5/16' 18 4' AUGER BLADE ONLY FOR USE WITH 5/16''H EPT CONTACT: JESUS ESCALONA 858-614-5772 'DO NOT SHIP ITEMS UNTIL REQUESTED''' Non-Deductible Tax  18 4' AUGER BLADE 5/16' 06/30/2018 5 EA 31.00 EA 18 4' AUGER BLADE 5/16'' 06/30/2018 5 EA 31.00 EA 18 5' AUGER BLADE 5/16'' 06/30/2018 5 EA 45.00 EA 18 5' AUGER BLADE 5/16'' 06/30/2018 5 EA 45.00 EA 18 5' AUGER BLADE 5/16'' 06/30/2018 5 EA 25 E 25 EA	EPT CONTACT: JESUS ESCALONA 858-614-5772 'DO NOT SHIP ITEMS UNTIL REQUESTED''' Non-Deductible Tax 18 3' AUGER BLADE 5/16'' 06/30/2018 5 EA 22.00 EA USD 18 3' AUGER BLADE ONLY FOR USE WITH 5/16' H EPT CONTACT: JESUS ESCALONA 858-614-5772 'DO NOT SHIP ITEMS UNTIL REQUESTED''' Non-Deductible Tax 18 4' AUGER BLADE 5/16'' 06/30/2018 5 EA 18 4' AUGER BLADE 5/16'' 06/30/2018 5 EA 18 4' AUGER BLADE 5/16'' 06/30/2018 5 EA 18 4' AUGER BLADE ONLY FOR USE WITH 5/16' H EPT CONTACT: JESUS ESCALONA 858-614-5772 'DO NOT SHIP ITEMS UNTIL REQUESTED''' Non-Deductible Tax 18 5' AUGER BLADE ONLY FOR USE WITH 5/16' H EPT CONTACT: JESUS ESCALONA 858-614-5772 'DO NOT SHIP ITEMS UNTIL REQUESTED''' Non-Deductible Tax 18 5' AUGER BLADE ONLY FOR USE WITH 5/16' H EPT CONTACT: JESUS ESCALONA 858-614-5772 'DO NOT SHIP ITEMS UNTIL REQUESTED''' Non-Deductible Tax USD 18 5' AUGER BLADE ONLY FOR USE WITH 5/16' H EPT CONTACT: JESUS ESCALONA 858-614-5772 'DO NOT SHIP ITEMS UNTIL REQUESTED''' Non-Deductible Tax USD ETT CONTACT: JESUS ESCALONA 858-614-5772 'DO NOT SHIP ITEMS UNTIL REQUESTED''' Non-Deductible Tax IMPORTANTI IMPORTANTI





Date: 11/06/2017

Page 7 of 16

ine#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Pr Conv Fac	c Uom tor	Extend	led Price
33	FY18 6" AUGER BLADE 5/16"	06/30/2018	5 EA	59.00	EA	USD	295.0
	LINE 34 6" AUGER BLADE ONLY FOR USE WITH 5/16" H						
	DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	22.8
34	FY18 8" AUGER BLADE 5/16" H	06/30/2018	5 EA	78.00	EA	USD	390.0
	LINE 35 8" AUGER BLADE ONLY FOR USE WITH 5/16" H						
	DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	30.2
35	FY18 10" AUGER BLADE 5/16"	06/30/2018	5 EA	99.00	EA	USD	495.0
	LINE 36 10" AUGER BLADE ONLY FOR USE WITH 5/16" H						
	DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	38.3
36	FY18 6" PORCUPINE .375	06/30/2018	5 EA	98.00	EA	USD	490.0
	LINE 37 6" TURN TYPE PORCUPINE FOR USE WITH .375						
	DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	37.9
37	FY18 8" PORCUPINE .375	06/30/2018	5 EA	124.00	EA	USD	620.0
	LINE 38 8" TURN TYPE PORCUPINE FOR USE WITH .375						
	DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	48.0
38	FY18 10" PORCUPINE .375	06/30/2018	5 EA	165.00	EA	USD	825.0
	LINE 39 10" TURN TYPE PORCUPINE FOR USE WITH .375						
	DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
otes: Th	he Terms and Conditions of this Purchase Order are availab	e at http://sandiego	.gov/purchasing/	егг	^	CT L	
	IMPORTANT!					TOT	PAGE
	e prompt payments, PO # must appear on all shipme o <i>Billing</i> Contact person at <i>Bill-To</i> address listed abov				JK	101	AL





Date: 11/06/2017

Page 8 of 16

Line #	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Pr Conv Fac		Exten	nded Price
	Non-Deductible Tax					USD	63.94
39	FY18 12" PORCUPINE .375	06/30/2018	5 EA	207.00	EA	USD	1,035.0
	LINE 40 12" TURN TYPE PORCUPINE FOR USE WITH .375						
	DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	80.2
40	FY18 15" PORCUPINE .375	06/30/2018	5 EA	223.00	EA	USD	1,115.0
	LINE 41 15" TURN TYPE PORCUPINE FOR USE WITH .375						
	DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	86.42
41	FY18 4" CONCAVE ROOT SAW BLADE MAN	06/30/2018	5 EA	60.23	EA	USD	301.1
	LINE 42 4" SUPER DUTY CONCAVE ROOT SAW BLADE MAN						
	DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	23.34
42	FY18 6" SUPER DUTY CONCAVE ROOT	06/30/2018	5 EA	78.95	EA	USD	394.7
	LINE 43 6" SUPER DUTY CONCAVE ROOT SAW BLADE MAN						
	DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	30.59
43	FY18 8" SUPER DUTY CONCAVE ROOT SAW BLAD	06/30/2018	5 EA	80.13	EA	USD	400.6
	LINE 44 8" SUPER DUTY CONCAVE ROOT SAW BLADE MAN						
	DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	31.0
44	FY18 10" SUPER DUTY CONCAVE ROOT SAW	06/30/2018	5 EA	89.47	EA	USD	447.3
	LINE 45 10" SUPER DUTY CONCAVE ROOT SAW BLADE MAN						
lotes: Th	he Terms and Conditions of this Purchase Order are available	at http://sandiego	.gov/purchasing/	SFF	ΙΔ	ST	PAGE
	IMPORTANT!			]		TOT	
o ensur	e prompt payments, PO # must appear on all shipmen to Billing Contact person at Bill-To address listed above	ts and invoices;	all invoices must be				





Date: 11/06/2017

Page 9 of 16

EPT CONTACT: JESUS ESCALONA 858-614-5772 DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax IS 12" SUPER DUTY CONCAVE ROOT SAW NE 46 12" SUPER DUTY CONCAVE ROOT SAW BLADE MAN EPT CONTACT: JESUS ESCALONA 858-614-5772 DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax IS 15" SUPER DUTY CONCAVE ROOT NE 47 15" SUPER DUTY CONCAVE ROOT NE 47 15" SUPER DUTY CONCAVE ROOT SAW BLADE MAN EPT CONTACT: JESUS ESCALONA 858-614-5772 DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax	06/30/2018	5 EA 5 EA	100.00	EA	USD USD USD USD	34.6 500.0 38.7 595.0	
Non-Deductible Tax I8 12" SUPER DUTY CONCAVE ROOT SAW NE 46 12" SUPER DUTY CONCAVE ROOT SAW BLADE MAN EPT CONTACT: JESUS ESCALONA 858-614-5772 DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax I8 15" SUPER DUTY CONCAVE ROOT NE 47 15" SUPER DUTY CONCAVE ROOT SAW BLADE MAN EPT CONTACT: JESUS ESCALONA 858-614-5772 DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax					USD	500.0 38.7	
18 12" SUPER DUTY CONCAVE ROOT SAW NE 46 12" SUPER DUTY CONCAVE ROOT SAW BLADE MAN EPT CONTACT: JESUS ESCALONA 858-614-5772 DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax 18 15" SUPER DUTY CONCAVE ROOT NE 47 15" SUPER DUTY CONCAVE ROOT SAW BLADE MAN EPT CONTACT: JESUS ESCALONA 858-614-5772 DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax					USD	500.0 38.7	
NE 46 12" SUPER DUTY CONCAVE ROOT SAW BLADE MAN EPT CONTACT: JESUS ESCALONA 858-614-5772 DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax <b>18 15" SUPER DUTY CONCAVE ROOT</b> NE 47 15" SUPER DUTY CONCAVE ROOT SAW BLADE MAN EPT CONTACT: JESUS ESCALONA 858-614-5772 DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax					USD	38.7	
EPT CONTACT: JESUS ESCALONA 858-614-5772 DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax <b>18 15" SUPER DUTY CONCAVE ROOT</b> NE 47 15" SUPER DUTY CONCAVE ROOT SAW BLADE MAN EPT CONTACT: JESUS ESCALONA 858-614-5772 DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax	06/30/2018	5 EA		EA			
DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax I8 15" SUPER DUTY CONCAVE ROOT NE 47 15" SUPER DUTY CONCAVE ROOT SAW BLADE MAN EPT CONTACT: JESUS ESCALONA 858-614-5772 DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax	06/30/2018	5 EA	119.00	EA			
Non-Deductible Tax <b>18 15" SUPER DUTY CONCAVE ROOT</b> NE 47 15" SUPER DUTY CONCAVE ROOT SAW BLADE MAN PT CONTACT: JESUS ESCALONA 858-614-5772 DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax	06/30/2018	5 EA	119.00	EA			
18 15" SUPER DUTY CONCAVE ROOT NE 47 15" SUPER DUTY CONCAVE ROOT SAW BLADE MAN PT CONTACT: JESUS ESCALONA 858-614-5772 DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax	06/30/2018	5 EA	119.00	EA			
NE 47 15" SUPER DUTY CONCAVE ROOT SAW BLADE MAN EPT CONTACT: JESUS ESCALONA 858-614-5772 DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax	06/30/2018	5 EA	119.00	EA	USD	595.0	
PT CONTACT: JESUS ESCALONA 858-614-5772 DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax							
DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax							
Non-Deductible Tax							
					USD	46.1	
18 3" BLADE ASSEMBLY	06/30/2018	5 EA	48.00	EA	USD	240.0	
NE 48 3" BLADE ASSEMBLY CHUCK WITH 5/16 COUPL							
PT CONTACT: JESUS ESCALONA 858-614-5772							
DO NOT SHIP ITEMS UNTIL REQUESTED***							
Non-Deductible Tax					USD	18.6	
18 3" BLADE .375	06/30/2018	5 EA	51.00	EA	USD	255.0	
NE 49 3" BLADE ASSEMBLY CHECK WITH .375 DIREC PT CONTACT: JESUS ESCALONA 858-614-5772							
DO NOT SHIP ITEMS UNTIL REQUESTED***							
Non-Deductible Tax					USD	19.7	
18 6" SINGLE FISHING BLADE	06/30/2018	5 EA	8.87	EA	USD	44.3	
NE 50 6" SINGLE FISHING BLADE MANUFACTURED PT CONTACT: JESUS ESCALONA 858-614-5772							
DO NOT SHIP ITEMS UNTIL REQUESTED***							
Non-Deductible Tax					USD	3.4	
18 8" SINGLE FISHING BLADE	06/30/2018	5 EA	10.50	EA	USD	52.5	
rms and Conditions of this Purchase Order are available	e at http://sandiego	.gov/purchasing/	<b>SEE</b>		ет г		
IMPORTANT!							
	NE 48 3" BLADE ASSEMBLY CHUCK WITH 5/16 COUPL EPT CONTACT: JESUS ESCALONA 858-614-5772 DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax 18 3" BLADE .375 NE 49 3" BLADE ASSEMBLY CHECK WITH .375 DIREC EPT CONTACT: JESUS ESCALONA 858-614-5772 DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax 18 6" SINGLE FISHING BLADE NE 50 6" SINGLE FISHING BLADE MANUFACTURED EPT CONTACT: JESUS ESCALONA 858-614-5772 DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax 18 8" SINGLE FISHING BLADE MANUFACTURED EPT CONTACT: JESUS ESCALONA 858-614-5772 DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax 18 8" SINGLE FISHING BLADE INPORTANTE	NE 48 3" BLADE ASSEMBLY CHUCK WITH 5/16 COUPL SPT CONTACT: JESUS ESCALONA 858-614-5772 DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax 18 3" BLADE .375 06/30/2018 NE 49 3" BLADE ASSEMBLY CHECK WITH .375 DIREC PT CONTACT: JESUS ESCALONA 858-614-5772 DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax 18 6" SINGLE FISHING BLADE 06/30/2018 NE 50 6" SINGLE FISHING BLADE MANUFACTURED PT CONTACT: JESUS ESCALONA 858-614-5772 DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax 18 6" SINGLE FISHING BLADE MANUFACTURED PT CONTACT: JESUS ESCALONA 858-614-5772 DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax 18 8" SINGLE FISHING BLADE 06/30/2018 rms and Conditions of this Purchase Order are available at http://sandiego IMPORTANT!	NE 48 3° BLADE ASSEMBLY CHUCK WITH 5/16 COUPL EPT CONTACT: JESUS ESCALONA 858-614-5772 DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax 18 3° BLADE .375 06/30/2018 5 EA NE 49 3° BLADE ASSEMBLY CHECK WITH .375 DIREC PT CONTACT: JESUS ESCALONA 858-614-5772 DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax 18 6° SINGLE FISHING BLADE 06/30/2018 5 EA NE 50 6° SINGLE FISHING BLADE MANUFACTURED EPT CONTACT: JESUS ESCALONA 858-614-5772 DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax 18 6° SINGLE FISHING BLADE MANUFACTURED EPT CONTACT: JESUS ESCALONA 858-614-5772 DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax 18 8° SINGLE FISHING BLADE 06/30/2018 5 EA RE 50 6° SINGLE FISHING BLADE MANUFACTURED ETT CONTACT: JESUS ESCALONA 858-614-5772 DO NOT SHIP ITEMS UNTIL REQUESTED*** Non-Deductible Tax 18 8° SINGLE FISHING BLADE 06/30/2018 5 EA IR 8° SINGLE FISHING BLADE 06/30/2018 5 EA	Ne 48 3" BLADE ASSEMBLY CHUCK WITH 5/16 COUPL       SPT CONTACT: JESUS ESCALONA 858-614-5772         DO NOT SHIP ITEMS UNTIL REQUESTED***       Non-Deductible Tax         18 3" BLADE .375       06/30/2018       5       EA         18 3" BLADE ASSEMBLY CHECK WITH .375 DIREC       PT CONTACT: JESUS ESCALONA 858-614-5772       5       EA       51.00         Ne 49 3" BLADE ASSEMBLY CHECK WITH .375 DIREC       PT CONTACT: JESUS ESCALONA 858-614-5772       06/30/2018       5       EA       51.00         Non-Deductible Tax       Non-Deductible Tax       86" SINGLE FISHING BLADE       06/30/2018       5       EA       8.87         Non-Deductible Tax       Non-Deductible Tax       06/30/2018       5       EA       8.87         Non-Deductible Tax       06/30/2018       5       EA       8.87         Non-Deductible Tax       06/30/2018       5       EA         Non-Deductible Tax       06/30/2018       5       EA         Non-Deductible Tax       06/30/2018       5       EA       10.50         rms and Conditions of this Purchase Order are available at http://sandiego.gov/purchasing/       SEEE       SEEE	Non-Deductible Tax   18 3" BLADE ASSEMBLY CHUCK WITH 5/16 COUPL   18 3" BLADE .375   06/30/2018   5   E4 8 3" BLADE .375   06/30/2018   5   E4 8 3" BLADE .375   06/30/2018   5   E4 9 3" BLADE ASSEMBLY CHECK WITH .375 DIREC   19T CONTACT: JESUS ESCALONA 858-614-5772   DO NOT SHIP ITEMS UNTIL REQUESTED***   Non-Deductible Tax   18 6" SINGLE FISHING BLADE   06/30/2018   5   E4 9 5   18 6" SINGLE FISHING BLADE   06/30/2018   5   EA   8 8" SINGLE FISHING BLADE   06/30/2018   5   EA   18 8" SINGLE FISHING BLADE   06/30/2018   5   EA   18 8" SINGLE FISHING BLADE   06/30/2018   5   EA   18 8" SINGLE FISHING BLADE   06/30/2018   5   EA   10.50   10.50   EA	Non-Deductible Tax   Non-Deductible Tax   USD   IB 3" BLADE ASSEMBLY CHUCK WITH 5/16 COUPL   Non-Deductible Tax   USD   IB 3" BLADE ASSEMBLY CHUCK WITH 5/16 COUPL   Non-Deductible Tax   USD   IB 3" BLADE ASSEMBLY CHUCK WITH 3/75 DIREC   IPT CONTACT: JESUS ESCALONA 858-614-5772   DO NOT SHIP ITEMS UNTIL REQUESTED***   Non-Deductible Tax USD   USD   IB 6" SINGLE FISHING BLADE   O6/30/2018   5   EA   8 6" SINGLE FISHING BLADE   O6/30/2018   5   EA   8 8" SINGLE FISHING BLADE   O6/30/2018   5   EA   8 8" SINGLE FISHING BLADE   O6/30/2018   5   EA   10 NOT SHIP ITEMS UNTIL REQUESTED***   Non-Deductible Tax USD   USD   IB 8" SINGLE FISHING BLADE   O6/30/2018   5   EA   10 NOT SHIP ITEMS UNTIL REQUESTED***   Non-Deductible Tax   USD   IB 8" SINGLE FISHING BLADE   06/30/2018 <td c<="" td=""></td>	





Date: 11/06/2017

Page 10 of 16

Line #	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Conv Facto		Exten	ded Price
	LINE 51 8" SINGLE FISHING BLADE MANUFACTURED DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	4.07
51	FY18 10" SINGLE FISHING BLADE	06/30/2018	5 EA	11.31	EA	USD	56.55
	LINE 52 10" SINGLE FISHING BLADE MANUFACTURED DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	4.38
52	FY18 12" SINGLE FISHING BLADE	06/30/2018	5 EA	11.65	EA	USD	58.25
	LINE 53 12" SINGLE FISHING BLADE MANUFACTURED DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	4.52
53	FY18 15" SINGLE FHISHING BLADE	06/30/2018	5 EA	12.24	EA	USD	61.20
	LINE 54 15" SINGLE FISHING BLADE MANUFACTURED DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	4.75
54	FY18 ADAPTOR COUPLING .375 L.H.	06/30/2018	5 EA	8.84 I	EA	USD	44.20
	LINE 55 ADAPTOR COUPLING .375 L.H. COARSE FINE DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	3.42
55	FY18 5/16" SPUD W/EZ CHUCK SERIES	06/30/2018	5 EA	12.02	EA	USD	60.10
	LINE 56 5/16" SPUD FOR USE WITH EZ CHUCK SERIES DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	4.66
56	FY18 .375" SPUD	06/30/2018	5 EA	11.88	EA	USD	59.40
	LINE 57 .375" SPUD FOR USE WITH EZ CHUCK SERIES						
Notes: T	he Terms and Conditions of this Purchase Order are availab	ble at http://sandiego	.gov/purchasing/	SEE	ΙΔ	ST I	PAGE
	IMPORTANT!			1		TOT	
To ensur	e prompt payments, PO # must appear on all shipm o <i>Billing</i> Contact person at <i>Bill-To</i> address listed abo	ents and invoices;	all invoices must be	-		. • 1	<i>.</i>





Date: 11/06/2017

Page 11 of 16

Line #	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Pr Conv Fac	c Uom tor	Exten	ded Price
	DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	4.60
57	FY18 5/16" ROOT SAW COUPLING	06/30/2018	5 EA	11.88	EA	USD	59.40
	LINE 58 5/16" ROOT SAW COUPLING FOR ASSEMBLY DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	4.60
58	FY18 EZ CHUCK W/HUB AND STEM	06/30/2018	5 EA	24.10	EA	USD	120.50
	LINE 59 EZ CHUCK WITH HUB AND STEM FOR ROOT SAW DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	9.34
59	FY18 EZ CHUCK HUB AND STEM	06/30/2018	5 EA	24.10	EA	USD	120.50
	LINE 60 EZ CHUCK HUB AND STEM FOR AUGER BLA DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	9.34
60	FY18 EZ CHUCK HUB AND STEM	06/30/2018	5 EA	67.00	EA	USD	335.00
	LINE 61 EZ CHUCK WITH HUB AND STEM FOR SQUARE BA DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	25.97
61	FY18 5/16" T HANDLE ALLEN	06/30/2018	5 EA	18.00	EA	USD	90.0
	LINE 62 5/16" "T" HANDLE ALLEN WRENCH FOR USE WI DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	6.98
62	FY18 .375 I.D. RIGHT HAND	06/30/2018	5 EA	2.42	EA	USD	12.10
	LINE 63 .375 I.D. RIGHT HAND FINE THREAD NUT DEPT CONTACT: JESUS ESCALONA 858-614-5772						
Notes: T	he Terms and Conditions of this Purchase Order are available	e at http://sandiego	.gov/purchasing/	QEE	^		PAGE
	IMPORTANT!						
_	e prompt payments, PO # must appear on all shipme o <i>Billing</i> Contact person at <i>Bill-To</i> address listed above				JR	TOT	AL





Date: 11/06/2017

Page 12 of 16

Line #	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Pr Conv Fac		Exter	nded Price
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	0.94
63	FY18 .375 I.D. LEFT HAND COARSE THREAD	06/30/2018	5 EA	2.42	EA	USD	12.10
	LINE 64 .375 I.D. LEFT HAND COARSE THREAD NUT W DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	0.94
64	FY18 20 FOOT BLUE LIGHT	06/30/2018	10 EA	468.00	EA	USD	4,680.00
	LINE 65 20 FOOT BLUE LIGHT WEIGHT ROD GUIDE HOSE DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	362.70
***	Item completely delivered						
65	FY18 7 FOOT BLUE LIGHT WEIGHT	06/30/2018	5 EA	282.00	EA	USD	1,410.00
	LINE 66 7 FOOT BLUE LIGHT WEIGHT ROD GUIDE HOSE DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	109.28
66	FY18 ADAPTOR SLEEVE, METAL	06/30/2018	5 EA	31.94	EA	USD	159.70
	LINE 67 ADAPTOR SLEEVE, METAL FOR USE IN WHEN DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	12.38
***	Item completely delivered						
68	FY18 7 FOOT HEAVY DUTY ROD GUIDE	06/30/2018	1 EA	5.40	EA	USD	5.40
	LINE 69 7 FOOT HEAVY DUTY ROD GUIDE HOSE EXTENSION DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax					USD	0.42
69	FY18 6'X12" BUCKET, HANDI CLAM	06/30/2018	1 EA	109.00	EA	USD	109.00
	LINE 70 6'X12" BUCKER, HANDI CLAM WITH SINGLE DEPT CONTACT: JESUS ESCALONA 858-614-5772						
Notes: Th	ne Terms and Conditions of this Purchase Order are available a	at http://sandiego	.gov/purchasing/			<b>0-</b>	
	IMPORTANT!						
	e prompt payments, PO # must appear on all shipment o <i>Billing</i> Contact person at <i>Bill-To</i> address listed above				JK	TO	AL





Date: 11/06/2017

Page 13 of 16

Line #	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uon Conv Factor	Exten	ded Price
	***DO NOT SHIP ITEMS UNTIL REQUESTED***					
	Non-Deductible Tax				USD	8.45
70	FY18 7'X12" BUCKER, HANDI CLAM	06/30/2018	1 EA	121.00 EA	USD	121.00
	LINE 71 7'X12" BUCKET, HANDI CLAM WITH SINGLE DEPT CONTACT: JESUS ESCALONA 858-614-5772					
	***DO NOT SHIP ITEMS UNTIL REQUESTED***					
	Non-Deductible Tax				USD	9.38
71	FY18 8'X12" BUCKET HANDI CLAM	06/30/2018	1 EA	139.00 EA	USD	139.00
	LINE 72 8'X12" BUCKET, HANDI CLAM WITH SINGLE DEPT CONTACT: JESUS ESCALONA 858-614-5772					
	***DO NOT SHIP ITEMS UNTIL REQUESTED***					
	Non-Deductible Tax				USD	10.78
72	FY18 9'X12" BUCKER HANDI CLAM	06/30/2018	1 EA	168.00 EA	USD	168.00
	LINE 73 9'X12" BUCKET, HANDI CLAM WITH SINGLE					
	DEPT CONTACT: JESUS ESCALONA 858-614-5772					
	***DO NOT SHIP ITEMS UNTIL REQUESTED***					
	Non-Deductible Tax				USD	13.02
73	FY18 10'X12" BUCKET HANDI CLAM	06/30/2018	1 EA	168.00 EA	USD	168.00
	LINE 74 10'X12" BUCKET HANDI CLAM WITH SINGLE DEPT CONTACT: JESUS ESCALONA 858-614-5772					
	***DO NOT SHIP ITEMS UNTIL REQUESTED***					
	Non-Deductible Tax				USD	13.02
74	FY18 12'X12" BUCKET HANDI CALM	06/30/2018	1 EA	197.00 EA	USD	197.00
	LINE 75 12'X12" BUCKET, HANDI CALM WITH SINGLE DEPT CONTACT: JESUS ESCALONA 858-614-5772					
	***DO NOT SHIP ITEMS UNTIL REQUESTED***					
	Non-Deductible Tax				USD	15.27
75	FY18 14'X12" BUCKET, HANDI CLAM	06/30/2018	1 EA	225.00 EA	USD	225.00
	LINE 76 14'X12" BUCKET HANDI CLAM WITH SINGLE DEPT CONTACT: JESUS ESCALONA 858-614-5772					
Notes: T	he Terms and Conditions of this Purchase Order are availa	ble at http://sandiegc	.gov/purchasing/	SEE LA		
	IMPORTANT!			FOR		
-	e prompt payments, PO # must appear on all shipm to <i>Billing</i> Contact person at <i>Bill-To</i> address listed abo			FUR	101	AL





Date: 11/06/2017

Page 14 of 16

ine#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Extend	ded Price	
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax				USD	17.4	
76	FY18 16'X12" BUCKET, HANDI CALM	06/30/2018	1 EA	254.00 EA	USD	254.0	
	LINE 77 16'X12" BUCKET HANDI CLAM WITH SINGLE DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax				USD	19.6	
77	FY18 18'X12 BUCKET, BUCKET HANDI CLAM	06/30/2018	1 EA	278.00 EA	USD	278.0	
	LINE 78 18'X12" BUCKET, HANDI CLAM WITH SINGLE DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax				USD	21.5	
78	FY18 20'X12" BUCKET, HANDI CLAM	06/30/2018	1 EA	308.00 EA	USD	308.0	
	LINE 79 20'X12" BUCKET, HANDI CLAM WITH SINGLE DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax				USD	23.8	
79	FY18 25'X12" BUCKET, HANDI CLAM	06/30/2018	1 EA	369.00 EA	USD	369.0	
	LINE 80 25X12" BUCKET, HANDI CLAM, WITH SINGLE DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax				USD	28.6	
80	FY18 8 FOOT TO 24 FOOT FIBER	06/30/2018	1 EA	152.00 EA	USD	152.0	
	LINE 81 8 FOOT TO 24 FOOT FIBER GLASS TELESCOPIC DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
	Non-Deductible Tax				USD	11.7	
81	FY18 24 FOOT FIBERGLASS POLE	06/30/2018	1 EA	168.00 EA	USD	168.0	
	LINE 82 24 FOOT FIBERGLASS POLE SET WITH ALUMINUM DEPT CONTACT: JESUS ESCALONA 858-614-5772						
	***DO NOT SHIP ITEMS UNTIL REQUESTED***						
otes: Th	he Terms and Conditions of this Purchase Order are available	e at http://sandiego	.gov/purchasing/	SEE I A	ст г		
IMPORTANT!					SEE LAST PAGE		
	e prompt payments, PO # must appear on all shipme o <i>Billing</i> Contact person at <i>Bill-To</i> address listed above			-	101	AL	





Date: 11/06/2017

Page 15 of 16

ine #	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uor Conv Factor	n Exten	ded Price
	Non-Deductible Tax				USD	13.0
82	FY18 STEEL HORSE SHOE GRABBER	06/30/2018	5 EA	70.00 EA	USD	350.0
	line 83 steel horse shoe grabber with coupling DEPT CONTACT: JESUS ESCALONA 858-614-5772					
	***DO NOT SHIP ITEMS UNTIL REQUESTED***					
	Non-Deductible Tax				USD	27.1
83	FY18 3 PRONGED STEEL BRAGGER	06/30/2018	5 EA	71.00 EA	USD	355.0
	LINE 84 3 PRONGED STEEL BRAGGER WITH COUPLING DEPT CONTACT: JESUS ESCALONA 858-614-5772					
	***DO NOT SHIP ITEMS UNTIL REQUESTED***					
	Non-Deductible Tax				USD	27.
86	FY18 8" DEBRIS SCOOPER	06/30/2018	5 EA	58.00 EA	USD	290.0
	LINE 87 8" DEBRIS SCOOPER WITH COUPLING, METAL DEPT CONTACT: JESUS ESCALONA 858-614-5772					
	***DO NOT SHIP ITEMS UNTIL REQUESTED***					
	Non-Deductible Tax				USD	22.
87	FY18 10" DEBRIS SCOOPER	06/30/2018	5 EA	63.00 EA	USD	315.0
	LINE 88 10" DEBRIS SCOOPER WITH COUPLING, METAL DEPT CONTACT: JESUS ESCALONA 858-614-5772					
	***DO NOT SHIP ITEMS UNTIL REQUESTED***					
	Non-Deductible Tax				USD	24.4
88	FY18 GREASE LOG CHOPPER	06/30/2018	5 EA	71.00 EA	USD	355.
	LINE 89 GREASE LOG CHOPPER WITH COUPLING FOR DEPT CONTACT: JESUS ESCALONA 858-614-5772					
	***DO NOT SHIP ITEMS UNTIL REQUESTED***					
	Non-Deductible Tax				USD	27.
89	FY18 CATCH BASIN SPOON ATTACHMENT 9"	06/30/2018	5 EA	71.00 EA	USD	355.
	LINE 90 CATCH BASIN SPOON ATTACHMENT 9" FOR DEPT CONTACT: JESUS ESCALONA 858-614-5772					
	***DO NOT SHIP ITEMS UNTIL REQUESTED***					
	Non-Deductible Tax				USD	27.
otes: Th	he Terms and Conditions of this Purchase Order are availab	le at http://sandiego	.gov/purchasing/	SEE LA	STI	PAGI
	IMPORTANT!			FOR		





Date: 11/06/2017 F

Page 16 of 16

Del.	Date Quantity/Ord	UoM Unit Price/F Conv Fa	Prc Uom ctor	Exte	nded Price
06/30	2018 5 E/	A 37.00	EA	USD	185.0
5772					
•					
				USD	14.3
06/30	2018 3 E/	A 42.00	EA	USD	126.0
P ELBOW 5772					
•					
				USD	9.77
06/30	2018 5 E/	A 46.00	EA	USD	230.0
AP ELBOW 5772					
*					
				USD	17.8
06/30	2018 1 E/	A 62.00	EA	USD	62.0
AP ELBOW 5772					
ĸ					
				USD	4.8
06/30	2018 1 E/	A 116.00	EA	USD	116.0
AP ELBOW 5772					
*					
				USD	8.9
06/30	2018 1 E/	A 130.00	EA	USD	130.0
AP ELBOW 5772					
e					
				USD	10.03
otes: The Terms and Conditions of this Purchase Order are available at http://sandiego.gov/purchasing/				\$	32,053.6
				\$	2,484.4
	RTANT!	RTANT!	ETANT! Line Item Tax	Line Item Total Tax	Line Item Total \$ Tax \$